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Final Exam Review

Quadratic Functions

YA
il X- Intercept: (&‘O) (L—(l O)
‘ ]
:\‘ / Y- Intercept: C Q | 8} _
% -/ Vertex: (% ;= [)
<t EEELCEN EEXV. L X Axis of Symmetry X = 3
M Max or Min? M\ "
!
YA

U

g

A

————

.ﬁ.“-_ .

LY
CEREEE=E e

o]

843y

<

<
s

FERErEE

XV

A

=1 8

| et

I
it N d A 4

><‘1f

X- Intercept: Q—g‘ O) (—gl
Y- Intercept: ( Q) ; -2_)

Vertex: (-zl Z)

Axis of Symmetry K=~

Max or Min? VV\ CL?\

Zoros. NONE.
Y-Intercept:  ( (D - ‘-4)
Vertex:  (\ ~2,')
Axis of Symmetry )\ = |

Max or Min?

MoK




et

Roots: ( -3 ’O\
Y- Intercept: (O ‘QB

AP Y B T § -3 =4 <3 =2 -1 1::4(&7!51‘5'_))( Vertex: C—SIOS
Axis of Symmetry Ae = 3

Max or Min? m \ V\

4 N N g

EEXREERE

4

S 4

The following is a graph of the path of a rocket after it is launched.
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5. ldentify and explain the real world meaning of the following points. Height is in feet and time is in

eagonds, T Moy aigvs oF thae roccedt
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c) y-intercept(s) (O|O

6. How long does it take for the rocket to reach the ground?
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7. What will the height be in 6 seconds?
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" Solve each equation
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Find the zeros by factoring
x2—-2x+8=0
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Find the roots by factoring
x2=7x+10=0

(X-8) (x-2)

k=S= X=3.20
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Find the x-intercepts by factoring
x> +16x+64=0

(x1%) (x+t%)
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Find the x-intercepts by taking the
square root

x2—-2=-2
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ong Solufion
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Find the zeros by taking the square
root
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Solve by taking the square root
3x2—2=241
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3x> =343
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Find the x-intercepts by graphing
5x%+10x+20 =0
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Find the roots by graphing
2x2—x—-21=0

(-%0) (3:5,0)

Solve by graphing
3x2+8x—-64=0
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(-3.47,0)
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Solve by the quadratic formula
2x?+10x —48=0
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Find the zeros using the
quadratic formula
3x2—4x—132=0
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Find the roots using the quadratic'
formula
6x%+4x—112=0
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Find the roots Find the zeros of Solve the equation
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'Find all the zeros Find the roots Find the x-intercepts
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6x2+11x—112=0
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(35,0)

3x2—-5x—-2=0

(-.23.0)
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" 8. Select the correct graph for the equation y="-(x— 1) (x - 7)
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10. Select the correct graph for the equation y=x?- 4x + 4
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©12. P=2L+2w Solve for W 13. P=2L+2W Solve for L
~L -ZL -2 QW) P T
P-2L=2W [ p_9 P-aW =L | L= 22
3 = (W= T 2
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15. A==bh Solve forb
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14. H=4m+2 Solveform

Determine the roots/zeros
16. f(x) = (x + 7)(x — 3) 17. F(x) = (x + 3)? Q@rg) ( KJFED

1=0 X339 Xt220
..3 —.3

Sl gk [x=3]
Identify the vertex of each and describe if it is a maximum or minimum

18. f(x) = -5(x+3)2—4 19. f(x) =2x%2—4x+1 W\
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22. f(x)=(x—3)2+2 23. f(x) =—(x—3)2
(2,3) (20)
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Determine the number of solutions
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22. The height of a baseball, t seconds after being hit can be representec

3 and shown in the graph to the right. Use this information to tou .
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a. Maximum height of the ball = lDQ fea X a0 /

b. Time the ball was in the air = 5 S{ C A0
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23. Identify the vertex and axis of symmetry from the following equation: f(x) =- 3(x — 2)*—4
a. Axis of symmetry: X - &

b. Vertex: ( Q’ __q)

24. Identify the vertex and axis of symmetry from the following equation: f(x) = (x +4)*+ 4
a. Axis of symmetry: L= _L{

b. Vertex: ( -(,‘{ L{)

25. Identify the vertex and axis of symmetry from the following equation: f(x) =- (x — 1)*+ 4
a. Axis of symmetry: X = | -

b. Vertex: k b \,Q

26. Identify the zeros and y-intercept of the following equation f(x) = x(3x + 4) X s O 3X+\'l: 0O

a. Zeros: (€>|O) ( —%, C)) Y Y
b. y-intercept: ( O\Q> y 3!: - ﬁ
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0 for £00 = 0 (3(0)+4) =
X T D= O 2
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28. Identify the x-intercepts and y-intercept of the following equation f(x) = 6x*+ 4x — 8
a. x-intercepts: W&y CAV\QL\.\%& - X0 (.' 1S 4, 0) ( L] i O)
b. y-intercept: naaan U= T = sraph e -2 0.
(6,-¢)

29. Identify the zeros and y-intercept of the following equation: f(x) = (x + 2)(x — 5)

a. Zeros: (-'Z,D) (5(63 X+ 2 (@) )("S s
. ) -~ —2 .
b. y-intercept: (Q Ib) Il —> 5 S
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30. Given y = (x + 2)(x - 5) identify the following %‘U S cleulattse
o Verex (.5, - 12.25)
b. Axisofsymmetry X = ((S
e. xintercepts (-2 0) (S,0)
d. y-intercept (O g (O

e. Is the vertex a maximum or minimum?
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31. Giveny = (x — 2)(x — 5) identify the following
v v (3,5 _335)
b. Axis of symmetry X = =
o. xintercepts ( 2,0) (S,
d. yimecept (O (1)

e. Isthe vertex a maximum or minimum?
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32. How many solutions does each of the following graphs have?
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33. In the factored polynomial f(x) = (x+3)(x-2), what can be determined?

a. x intercepts at (3, 0) and (-2, 0)
@ X intercepts at (-3, 0) and (2, 0)

c. vertex at (3, -2)

d. vertex at (-3, 2)

34. What is true of the graph of the function f(x) = x>+ 8x + 16
| Cxrd) Gy
a. The graph passes through the x-axis at -4
b. The graph touches the x-axis at 4.
€) The graph touches the x-axis at -4

. The graph passes through the x-axis at -4 and 4.

35. When solving a quadratic function, Clinton finds that the function has one root, -2. Circle all possible
true statements based on this information.

. His parabola opens down
The vertex is at (-2, 0)
he x-intercept must be at (-2,0)
The axis of symmetry is x=-2

3




36. Find the solutions: y = (x — 4)(x + 3)

8. x= {4 3] X-\| O X+23=0

6 ={4s'3 -— -
9;{4,3}} +4 +y 3 -3

d x={4,-3} x=4 =

37. Find the x-intercepts f(x) = (x — 3)(x — 5)

a. x={3,5}
b. x={3,-5}

(? x= {3, 5}
. x={-3,-5}

38. Find the x-intercepts y = (x — 5)(x + 1)

a. (0,-5)(0,1)
b. (-5,0)(1,0)
@ (5,0)(-1,0)
d. (0, 5) (0, -1)

39. Find the x-intercepts y = x(x — 7)
¥=0 X7 =
a. (7,0
b. (-7,0) 7 17
c. (-7,0)(0,0) "
.7

@ (0,0) (7, 0) -

40. Solve for m in the equation: k= 2m + 2r

_E:;a\/' = 23w - ?ﬂ'
o 2 ra

41. Solve for n in the equation: y = 9n + 27

21 "2 VI B
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ci=an |V q/)
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42. Solve for r in the equation: A = mr?







